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QU —31/ SECTION — A
a%]A ¥y /Objective Type Questions
) v wE 81 ITH

wE=T iy 1% 40 7F B g gy & anr g Aaer Ry 70 & Rt @

ENT 57 7 T BT @ OMR - e w7 RfEa avi (40X 1=40)

ct. Tou have to mark, your selected

Question No. ! to 40 have four options, eu af which only one is corey
(St x=40)

aplion, on the O.liR - S‘heﬂ.

L Sfwme # v R ofew 3 Re ar &1 T -
()  uRaffa 7E & & |

(A) zrg—.d‘am g wirar 21
(€)  agd R a avm 2 D T
At th:lirn-;.- nf overloading, the eleciric currem in the circuit -

(A) reduces substantinlly IH:; does not chunge

(C) increnses heavily (D) none of these
2. T - | WREE S Sl 87
(A) T A ([FrE—-T)

(C) o dE ol & (D)
Which is the conventional source of encrgy?

(B) FifAm Fal e
EQUIR I A o

(A) Bio - Mass (1 Nuclear energy source

(C)  Geo—thermal energy source () None of these

3 mmﬁasarﬁ\rarma?ﬁmﬁmﬁmﬁafmﬁmwmrﬁmm &2

(A) o] (B) RUBRE]

(C) = JERY M =W @ S
The gain of oxygen by i substance during chemical reaction iy called -

(A} Reduction (15 Oxidition

{C) Cormrosion (D) None of these
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(B) 1 TEP
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9
 found in plants?
“’h[ ‘h one of the f““n“‘ing i< the gn‘“‘ih ]lDﬂI‘IDnL fn
¢

)

A} Gibberellin .
€ Insulin

IR T WRR Py ) e 8

A T B g (B
© o % gy W ()
The resigtance of 4 conductor does not depend op -
{A) length of 4 conductor (B)
(€) Temperatype of 4 conductor (0
T B o o e TR vy 2

N R W m)
€« axy ()
Which State hyg 'Sutungnm' Waler han‘c\nng S¥sem?
(A) Himachy Pradesh (R)
) Kerala m
8 ey T ¢

“ o ()
O (hy
Which iy 5 Plam homanen

(A) Insulin )
6 OL"'N‘DgCn D)

Page 4 o1 5

Adrenaline

Thyroxine

e TR R Gy g

cross sectional yreq of a Condugyoy

Mlow ing lhroud

Electrie current

conductor
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B, P o A gAmRA B 9P wen ot 8-

TYRLY B *

© 4

The maximum number of electrons in a shell is -

(\) o (B) 2n?

€y M A

9, I% 3 Wi B AR woT Aol oy Avads et e 87
C (A ifm P awd ge w (1) o IR T W

(© AAgA iy  Fie wa W

Where does. the most of refraction for light rays entering the eye, occurs?

(A) on the outer surface of cornea {®) on the cye-lens

() in agueous humour (D) on the reting

10. F9 W eREHH aa awa qe 87

(A) R m A
() 9m M e
Which hydrocarbon is the simplest compound?

(A) Methane (B Ethane
{C) Propane (M Butane

11 argesd § yorg @ B W 3 (@) 3RE g e @

(A) ® T (13 Aen
() e D) s
Which colour of light scatters more in atmosphere?

(A} Red (B)  Blue
(C)  Yellow (D)  Ornge
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Whah cme i e ¢l =g s e g byt ] G e
LY Crmvuth ug i Syphilis
i W ot im Al of these

W o8 0% o wonr ey ve "1 A w2z g

t\ ity W g ey

1) Wran in A g M

Which compoment o f the Bloasd bedps 10 Mopring blood leakape?

iA) | vmphy () Masma

(1] Platelens im None of these

15, et 4 a LRE I o I T et B2

AV N (") T
(L& B (m LI}
Which one of the following represents dwarf plany»

Ay 1 (B) (T
Ky ¢ (D) T

16 g g g T oF afah T
(A) » Fym B) &y
) fazh )] ;a'ﬁ
Which one of he following is bisexua) / hcrmnphrndltc anima|?
(A) !?mhwmm B) Doy
€  Cu M Gog
l
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R V=9
(L&) ValR I i e v p!
Whach rebation ! the following 14 e
w Fi B R
R T
1] V = IR 1] V= IR?

2. b EF e r i
[ X

'A) Rl (B) s A
(Cy = A D) o %% 4

The spinal cord onginates from -

(A) Cetehrum (B) Cercbellum

1Cy Pons (D) Medulla
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m AR
(C) .

9
What is S1unit of magnification produced by a Icr::;’ cm
:tl} ll:m N Unit less

2. R s v wm e g -
(A) * 80mm

©  1omm
The normal diastolic biood pressure is -

(B) 100 mm
(N 130 mm

(A 80 ) 100 mm
©  20mm @ 130 mm
B B % 3 R g a e e a2
(A) Al B Na
C) oCu @) Fe
Which metal of the following has the lowest melting point”
(A) Al (B) Na
(C) Cu 1 H) Fe
zyu'nmq T IR 3w 4
. (A)  Ca0 (B Caon,
(€) -« Caco, D 3 g g
What is the chemical formyla for marhle?
(\) Ca0 (") CatOH),
(C) CaCO,y im None of these
25 aﬁaﬁqm&nmﬁmmﬁfhmﬂmuqmmmp
(A) 3w Afwm B i A
(€ » W N ™ G
The canth is shielded by 0zone fayer from which hu;nful Rdiatiog?
(A) Infra - red (B) Therma
(©) Ul - violy M aAp of these
212]D



SECTION -8

=L lons
TS w¥ /Non - Oblective TYRe Questlo

ns
Y Idg w7 Short Answer Type 0uesucf

s _wmea / Physlcs
E}' ,
RYT G 1 #aayam’h'mmm#ﬁ‘#drﬁf#tm?ﬂm ?W:am
(4x2=3)

Pl £/
' y tion ]
Question No. 1 to 8 is short answer txpe, Answer any 4 questions. Each question carries 2
(Ix2=g)

marks. .
1. oo™ @ amyta Aost @) )

State the laws of refraction of light.
(2)

2. AT 3 e g A @ st 82
What is tneant by power of accommodation of the eye?

W, g aRowt ¥ sofies d@aom &1 9yam a0 38 Rear onar 82

Why is the scrics arrangement not used for domeslic circuit?
4. yalen 3 wwa g v 7t gl gy 47 (2)

Why does the sun appear reddish during sunrise?
50 cm ward 1 7 ¥ 30 cm T A B Pt S T S T 20 A

@ T @) afefda @ Ruf, gy ok Wsw s A "

An object 5.0 cm in length is placed at a distance of 20 cm in front of a convex mirror of

th

radius of curvature 30 cm. Find the position of the image, its nature and size.. -
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81, e sl ardl N N "
l-" . 'I’-h-ll 'll] m a a'}g qﬂ
(" il
stronaut?
low dm‘;)lh: \hy appenr loah & " e
I‘(:: R MI (n) None of these
“

2

Mt & o gy @ fn PRE I g &7 |

(A)  UF M w R i

(€) o M oy ) FRAIE

How many inds are formed between the iwo prygen atoms?

(A)  Single Bond (1)  Double Bond
None of these

()  Triple Bond (D)
M - mmgwh%nmmwmm#mmmt?

(A) « WEQ (o) (B) &

(€) W _ ) AT
Which non - metal is found in liquid siale at room lemperature?

(A) Mercury (B) Bromine
(C)  Sulphur o (D)  Sodium
wud dyor @ fog omvaw 8 -

(A) o uofefm (B) ¥ I
(€) T FglteTEE (D) §MAmh
The avtetrophic mode of nutrition requires -

(A) Chlorophyll (B) Sunlight
(C)  Carbon divxide y M)  Allof these
A= 4 A o - m o 82

(A) In B) G

(€) o Ge D) C

Which one of the following is a metalloid?

(A Zn (B) Ca

€ Ge (D) C
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(B Olmﬁ Tﬂ
©  wimn qm (m &R gE
Which one of the following is unisexual flower?
(A) Hibiscus Nower (B) Mustand flower
(&) Pupaya Now ey TH Rose Nower

RY A aﬁf:uﬁmmimraqm—mnm?mt-

(A) s (B) ¢ 3T
© S

m T A g A

Toothpaste for cleaning the teeth yre generally .

(A) Basic (B Acidic
ICI_ Saly

) None of these
38.

T (Alkanes) 1 WFT @ e -
{’\, g CuH:u.z

tC] Cl“:l-l

“J‘ Cull:'n]
The general formula for an alkane is -

(A) CaH:a.2

1]} Culls
(C) CaHza (M CeHlin s
IR R R R ot R
(A)  ad T B IT odm
(C) - 3 <im (D) Fwmamh

Which one of the following mururs has positive foval length?

(A) 3| mirror (B) Convex mirror
anc

.r\“ ‘-‘l “ﬂ\c
(L] Concave mimor 11} ¢

0. =23 - @ o S e @

(A) A
() magﬁ‘!m ™

. netg) source !
Which one of the following 183 clean encig (B Wood

(A) Coal D Al of these
(€ Natural gas

(B) TFA
D WA
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27,

29.

O g P Tt s -
(A) NaHCQ, (B) @ Na:CO;10H:0
©  cuony, D AP
:11;: chemica) formula for washing soda is -
(‘C) NaHCo, (i]) Na:CO; 10H:0
CatOH), (D) None of these

3“"'Wﬁ7ﬂpHm$mmma? |
(A) 40N 4g

(B) s0RAsa
(C) 60 A gp (D) 701 78
WIIhll'l which pH range oyr btde works? ' .
(A) 401048
(C)  601w6s8 ?;; i'z :° :z

RYR [+

Rega smm =) T3S 7 87
(A) . mﬁ.’ (B) M
(© W D) 3ty
What is S unit of electric charpe? )
(A) Volt (B) Ohm
(C) Ampere (M Coulomb
R aera & Sy f¥a oo § R T &2
(A) R sireR M) o R afys
(C) IR M Arie

In which device, the split rng is used?
(A) Electric Motor

(B Electne penerator
(C) Ammeter

1)) Galvanometer

T B RAY] W AT TR0 A QAR A wEm fed g 8

(A) 5 (B) 6

(<) 7 . D) o8
How many electrons are there in the outermonst orbit of an atom of chlorine?
Ay 3§ B 6
o M 8



(2)
(2)

(2)

Draw a labelled diagram of an electric motor, Explain its principle and working. What is the
function of split ring in an electric motor?

10. ﬁgaaha-@g?ﬁmﬁ};:?mm&ﬁrmmﬂmsnﬁﬁgaﬂmm:m

ﬁmmﬁmél

What is electrio power? Derive H = R, where H is the amount of heat produced by steady

Clluuuilhtoughammrkinlimcl-

E"a] D — Dano 120l 1R



WA/ Chemistry

e & Qv ,
mmrrdrr.ﬂywﬂcmhl#dwl’”“”m“

(4a=g)
vE Duifte £,

;ach guertion carrie
Question No. 101097, Whort aniwrr ipe. Amiwer any 4 quertions. Kach g
2 mard _ (In2zy)
marks,

amn &7
- 4N 0001 1270 ke 4 yom o @ ) T e o o )
. -
Why dees the cotout ot voppet sulfate wluton «hange when an e nal is dipped in i?
12, ummrnammmmp? 2)

What 4o you mean by a peecipitation reaction *

(A8 “ﬂwwﬁhﬁ#mwnmmhmwﬂmv (2)
Why acids o ot chow acidic hehas ior in ihe abwence of water?

W oo yfifym 2 W i mmefys utem - (2)
RALEIILS B LR S e N, &
Ry T mgstenta e A "8 &y R wwn B
Wate halanced chemus) *quathons for the reaction aking place when -
(A)  Dilure Sulphune acud reacts with Zing
By Dilue Hydnahbonn acid reacts wiy Magnesium nbbon,

IS, mgﬁmaammmﬁtfmmﬁe_mmmv (2)
What happens when metals react with water?
16, man?mﬁmmt (2)
What is humologous series? Es plain with an example.
17. (A} Agomm @ sm o augs 8? (2)
What Jo you miean by valency?

(B)  8RSfirgs #) W R
Write the valency of Magnesium.
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Questiony

Jolla wing,

Fyerfifogg vy o,

(Sx1=$)
Wy U2 150y (5)
gy ey
(TR L & ) ey
(v) ey

Wnie the Mructur) formuly fur the llowin

B compoup,,,.
M Methane M Eihane
) Propane W) Buane
¥} Pemane
19, Bt a2 o) wftne o (s
) ufya (i sy
i)y  fn liv)  fram
vy iy
Definc the following 1crms.;
() Minera) iy  Ore
() Gangue liv)  Calcination
V) Roasting
[212]D
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Sfafdsna / Biology
F¥Y 7551 20 & 26 &y avwidz cvx &1 g0 @ B ¢ TFR B goe 27 odw ® AT 2

Vo Pt 2/ f2=s)

Question No. 20 ta 26 it short answer type. Amwer any 4 questions. Each question carries

2 marks. (42=9%)
20, a3l a7 e 2 T NAR At 2

Mention two differences hetueen *Adery® and *Vem'.

21. 9EE g @1 9w Fm Y
What are the tunctions of Jigestive ensymes?
22 wRT & FF M 4t I o oTea #4 g 82 Y
How are water and nunerals imnsported in plants? _
23, TIT & TRWAa FA gaw g @2 2
Huw does photatropism oceur in plants?
247TE T w3 A 3 e )
Draw a labelled dhagram of female reprstuctive system.
2S. 8 TR ¥4 o o & R A o @ )
* Towdowe Bt 10 hnow how ol the fonsils age?
nmmﬂemﬁmﬁmmmmﬁmms? ]
Why depletion of azone Layer is threat ta us?

ad gadg s/ Long Answer Type Questions

7¥T woRr 27 Mt 28 <hd ity e &) prd @ A ow o o 2) Sx1=s)
Questions No. 27 and 28 are long Amwer IYpe quations. \mwer eny one of the
Jollowing. (Sxla$)

27. w ofrm ofter () ) amefday areen R em gt ) v oot e 8
Draw the well hht'"ﬁl_i—ll-l-ll.'llll'l' ol a ncurva and eaplan ity fumnions

28. WY VEEA OV 42 erad purtdhor AT ot 03 g and 31 gea T 15

Draw a well lahellad diapram of human respralony svvtem and evplan i functang

- H-“_—.“.hqm“-m

-

l212] D Page 16 of 1¢



